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Change 1 

	Testcase name
	f_TC_8_6_4_1_EUTRA

	Reason for change
	According to the 36.331 section 5.3.11, if the failedPCellId is set to global cell identity, there is no reason to set the phycellid and carrier frequency and therefore not the extended earfcn(failedPCellId_v1090) either for Band > 64.
3>
set the failedPCellId to the global cell identity, if available, and otherwise to the physical cell identity and carrier frequency of the PCell where radio link failure is detected;
In current implementation failedPCellId_v1090 is required for Band >64 also when failedPcellId is set to global cel identity


	Summary of change
	Change the TTCN to enable UE send the UE information response with not present failedPCellId-v1090 for Band >64 in the case when failedPCellId-r10 is set to global cell identity.

	TTCN module
	LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn

	MCC160 Comment
	


Before change
function f_TC_8_6_4_1_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Reporting of Intra-frequency measurements
…

    //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_UEInformationResponse_v930_IEs := cr_UEInformationResponse_v930_LateNonCriticalExtension(cr_UEInformationResponse_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0));

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_UEInformationResponse_v930_IEs := *;

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?, *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell2,

                                                                                                                                 *),

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)), cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq)),
                                                                                         cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit,

                                                                                         v_FailedPCellId_v1090 //@sic R5-171144 sic@

                                                                                         ),

                                                                    v_UEInformationResponse_v930_IEs //@sic R5-171144 sic@

                                                                    ))); //@sic R5s130563 sic@

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.1 Step 12");
After change
 function f_TC_8_6_4_1_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Reporting of Intra-frequency measurements
…

  //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_UEInformationResponse_v930_IEs := cr_UEInformationResponse_v930_LateNonCriticalExtension(cr_UEInformationResponse_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0));

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_UEInformationResponse_v930_IEs := *;

        v_FailedPCellId_v1090 := omit;

    }

    alt {    
    [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?, *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell2,

                                                                                                                                 *),

                                                                                         *,

                                                                                         cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),
                                                                                         cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit,

                                                                                         omit //@sic R5-171144 sic@

                                                                                         ),

                                                                    v_UEInformationResponse_v930_IEs //@sic R5-171144 sic@

                                                                    ))); //@sic R5s130563 sic@

     [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?, *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell2,

                                                                                                                                 *),

                                                                                         *,

                                                                                         cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit,

                                                                                         v_FailedPCellId_v1090 //@sic R5-171144 sic@

                                                                                         ),

                                                                    v_UEInformationResponse_v930_IEs //@sic R5-171144 sic@

                                                                    ))); //@sic R5s130563 sic@

    }                                                                    

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.1 Step 12");
Change 2
	Testcase name
	f_TC_8_6_4_2_EUTRA

	Reason for change
	According to the 36.331 section 5.3.11, if the failedPCellId is set to global cell identity, there is no reason to set the phycellid and carrier frequency and therefore not the extended earfcn(failedPCellId_v1090) either for Band > 64.
3>
set the failedPCellId to the global cell identity, if available, and otherwise to the physical cell identity and carrier frequency of the PCell where radio link failure is detected;
In current implementation failedPCellId_v1090 is required for Band >64 also when failedPcellId is set to global cel identity


	Summary of change
	Change the TTCN to enable UE send the UE information response with not present failedPCellId-v1090 for Band >64 in the case when failedPCellId-r10 is set to global cell identity.

	TTCN module
	LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn

	MCC160 Comment
	


Before change
  function f_TC_8_6_4_2_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Reporting of Inter-frequency measurements
…

    //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 3?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell3); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_UEInformationResponse_v930_IEs := cr_UEInformationResponse_v930_LateNonCriticalExtension(cr_UEInformationResponse_v9e0_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0));

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_UEInformationResponse_v930_IEs := *;

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell3,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell3,

                                                                                                                                 *),

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),

                                                                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq)),
                                                                                         cr_Cgi(v_PLMN_Identity_Cell3, v_CellIdentity_Cell3),

                                                                                         omit,

                                                                                         rlf,

                                                                                         omit, //@sic R5s130593 sic@

                                                                                         v_FailedPCellId_v1090),   //@sic R5-171144 sic@

                                                                    v_UEInformationResponse_v930_IEs  //@sic R5-171144 sic@

                                                                    )));

     f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.2 Step 12");
After change
  function f_TC_8_6_4_2_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Reporting of Inter-frequency measurements
…

    //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 3?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell3); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_UEInformationResponse_v930_IEs := cr_UEInformationResponse_v930_LateNonCriticalExtension(cr_UEInformationResponse_v9e0_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0));

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_UEInformationResponse_v930_IEs := *;

        v_FailedPCellId_v1090 := omit;

    }

    alt {    
    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell3,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell3,

                                                                                                                                 *),

                                                                                         *,

                                                                                         cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),
                                                                                         cr_Cgi(v_PLMN_Identity_Cell3, v_CellIdentity_Cell3),

                                                                                         omit,

                                                                                         rlf,

                                                                                         omit, //@sic R5s130593 sic@

                                                                                         omit),   //@sic R5-171144 sic@

                                                                    v_UEInformationResponse_v930_IEs  //@sic R5-171144 sic@

                                                                    )));

      []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell3,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell3,

                                                                                                                                 *),

                                                                                         *,

                                                                                         cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell3, v_CellIdentity_Cell3),

                                                                                         omit,

                                                                                         rlf,

                                                                                         omit, //@sic R5s130593 sic@

                                                                                         v_FailedPCellId_v1090),   //@sic R5-171144 sic@

                                                                    v_UEInformationResponse_v930_IEs  //@sic R5-171144 sic@

                                                                    )));

     }                                                                    

     f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.2 Step 12");
Change 3 

	Testcase name
	f_TC_8_6_4_3_EUTRA

	Reason for change
	According to the 36.331 section 5.3.11, if the failedPCellId is set to global cell identity, there is no reason to set the phycellid and carrier frequency and therefore not the extended earfcn(failedPCellId_v1090) either for Band > 64.
3>
set the failedPCellId to the global cell identity, if available, and otherwise to the physical cell identity and carrier frequency of the PCell where radio link failure is detected;
In current implementation failedPCellId_v1090 is required for Band >64 also when failedPcellId is set to global cel identity


	Summary of change
	Change the TTCN to enable UE send the UE information response with not present failedPCellId-v1090 for Band >64 in the case when failedPCellId-r10 is set to global cell identity.

	TTCN module
	LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn

	MCC160 Comment
	


Before change
  function f_TC_8_6_4_3_EUTRA() runs on EUTRA_PTC

  { /* Radio Link Failure logging / Reporting of Inter-frequency measurements */
…

    //@siclog "Step 16" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 6 with rlf-Report included?

    //Check: Does the reestablishmentCellId included in the UEInformationResponse message equal to the global cell identity of Cell 6?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell3); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

     SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell6,

                                     cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                     cr_RLF_Report_1Entry(?, *, -, *,

                                                                                          (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell3, v_CellIdentity_Cell3)), cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell3, v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq)),
                                                                                          cr_Cgi(v_PLMN_Identity_Cell6, v_CellIdentity_Cell6), omit, rlf, omit, //@sic R5s130639 sic@

                                                                                          v_FailedPCellId_v1090   //@sic R5-171144 sic@

                                                                                          ))));

     f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.3 Step 16");
After change
  function f_TC_8_6_4_3_EUTRA() runs on EUTRA_PTC

  { /* Radio Link Failure logging / Reporting of Inter-frequency measurements */
…

    //@siclog "Step 16" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 6 with rlf-Report included?

    //Check: Does the reestablishmentCellId included in the UEInformationResponse message equal to the global cell identity of Cell 6?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell3); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    alt {        

     []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell6,

                                     cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                     cr_RLF_Report_1Entry(?, *, -, *,

                                                                                          cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell3, v_CellIdentity_Cell3)),
                                                                                          cr_Cgi(v_PLMN_Identity_Cell6, v_CellIdentity_Cell6), omit, rlf, omit, //@sic R5s130639 sic@

                                                                                          omit   //@sic R5-171144 sic@

                                                                                          ))));

     []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell6,

                                     cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                     cr_RLF_Report_1Entry(?, *, -, *,

                                                                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell3, v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq),

                                                                                          cr_Cgi(v_PLMN_Identity_Cell6, v_CellIdentity_Cell6), omit, rlf, omit, //@sic R5s130639 sic@

                                                                                          v_FailedPCellId_v1090   //@sic R5-171144 sic@

                                                                                          ))));

    }                                                                                          

     f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.3 Step 16");
Change 4 

	Testcase name
	f_TC_8_6_4_4_EUTRA

	Reason for change
	According to the 36.331 section 5.3.11, if the failedPCellId is set to global cell identity, there is no reason to set the phycellid and carrier frequency and therefore not the extended earfcn(failedPCellId_v1090) either for Band > 64.
3>
set the failedPCellId to the global cell identity, if available, and otherwise to the physical cell identity and carrier frequency of the PCell where radio link failure is detected;
In current implementation failedPCellId_v1090 is required for Band >64 also when failedPcellId is set to global cel identity


	Summary of change
	Change the TTCN to enable UE send the UE information response with not present failedPCellId-v1090 for Band >64 in the case when failedPCellId-r10 is set to global cell identity.

	TTCN module
	LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn

	MCC160 Comment
	


Before change
    function f_TC_8_6_4_4_EUTRA() runs on EUTRA_PTC

  { // Radio Link Failure logging / Reporting at E-UTRA handover
…

    //@siclog "Step 17" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 4 with rlf-Report included?

    //Check: Does the reestablishmentCellId included in the UEInformationResponse message equal to the global cell identity of Cell 1?

    v_FailedPCellId := cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12); //@sic R5s140147 sic@

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell12); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_UEInformationResponse_v930_IEs := cr_UEInformationResponse_v930_LateNonCriticalExtension(cr_UEInformationResponse_v9e0_1Entry(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq_v9e0));

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_UEInformationResponse_v930_IEs := *;

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell4,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(*,

                                                                                                            *,

                                                                                                            cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq, v_PhysCellId_Cell12, omit),  //@sic R5-171144 sic@

                                                                                                            *,

                                                                                                            (cr_FailedPCellId_CellGlobalId(v_FailedPCellId), cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell12, v_Dl_CarrierFreq_Cell12)), //@sic R5s140147 sic@
                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            *,

                                                                                                            hof,

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            v_FailedPCellId_v1090 //@sic R5-171144 sic@

                                                                                                            ),

                                                                                                            v_UEInformationResponse_v930_IEs

                                                                                                            ))); //@sic R5s140147 sic@

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.4 Step 17");
After change
    function f_TC_8_6_4_4_EUTRA() runs on EUTRA_PTC

  { // Radio Link Failure logging / Reporting at E-UTRA handover
…

    //@siclog "Step 17" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 4 with rlf-Report included?

    //Check: Does the reestablishmentCellId included in the UEInformationResponse message equal to the global cell identity of Cell 1?

    v_FailedPCellId := cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12); //@sic R5s140147 sic@

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell12); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_UEInformationResponse_v930_IEs := cr_UEInformationResponse_v930_LateNonCriticalExtension(cr_UEInformationResponse_v9e0_1Entry(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq_v9e0));

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_UEInformationResponse_v930_IEs := *;

        v_FailedPCellId_v1090 := omit;

    }

    alt {     

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell4,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(*,

                                                                                                            *,

                                                                                                            cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq, v_PhysCellId_Cell12, omit),  //@sic R5-171144 sic@

                                                                                                            *,

                                                                                                            cr_FailedPCellId_CellGlobalId(v_FailedPCellId),  //@sic R5s140147 sic@
                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            *,

                                                                                                            hof,

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            omit //@sic R5-171144 sic@

                                                                                                            ),

                                                                                                            v_UEInformationResponse_v930_IEs

                                                                                                            ))); //@sic R5s140147 sic@

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell4,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(*,

                                                                                                            *,

                                                                                                            cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq, v_PhysCellId_Cell12, omit),  //@sic R5-171144 sic@

                                                                                                            *,

                                                                                                            cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell12, v_Dl_CarrierFreq_Cell12), //@sic R5s140147 sic@

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            *,

                                                                                                            hof,

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            v_FailedPCellId_v1090 //@sic R5-171144 sic@

                                                                                                            ),

                                                                                                            v_UEInformationResponse_v930_IEs

                                                                                                            ))); //@sic R5s140147 sic@

    }                                                                                                              

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.4 Step 17");
Change 5 

	Testcase name
	f_TC_8_6_4_5_EUTRA

	Reason for change
	According to the 36.331 section 5.3.11, if the failedPCellId is set to global cell identity, there is no reason to set the phycellid and carrier frequency and therefore not the extended earfcn(failedPCellId_v1090) either for Band > 64.
3>
set the failedPCellId to the global cell identity, if available, and otherwise to the physical cell identity and carrier frequency of the PCell where radio link failure is detected;
In current implementation failedPCellId_v1090 is required for Band >64 also when failedPcellId is set to global cel identity


	Summary of change
	Change the TTCN to enable UE send the UE information response with not present failedPCellId-v1090 for Band >64 in the case when failedPCellId-r10 is set to global cell identity.

	TTCN module
	LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn

	MCC160 Comment
	


Before change
  function f_TC_8_6_4_5_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Reporting of ECGI of the PCell
…

    //@siclog "Step 16" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    v_FailedPCellId := cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2);

    v_Dl_CarrierFreq_Cell2 := v_Frequency_IE_Cell2.UL_DL_Earfcn.dl_CarrierFreq;

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell2); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(*,

                                                                                                            *,

                                                                                                            -,

                                                                                                            *,

                                                                                                            (cr_FailedPCellId_CellGlobalId(v_FailedPCellId),

                                                                                                             cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell2, v_Dl_CarrierFreq_Cell2)),
                                                                                                            cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2),

                                                                                                            *,

                                                                                                            rlf,

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1), //@sic R5s140067, R5s140069 sic@

                                                                                                            v_FailedPCellId_v1090 //@sic R5-171144 sic@

                                                                                                            ))));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.5 Step 17");
After change
  function f_TC_8_6_4_5_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Reporting of ECGI of the PCell
…

    //@siclog "Step 16" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    v_FailedPCellId := cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2);

    v_Dl_CarrierFreq_Cell2 := v_Frequency_IE_Cell2.UL_DL_Earfcn.dl_CarrierFreq;

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell2); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    alt {    
    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(*,

                                                                                                            *,

                                                                                                            -,

                                                                                                            *,

                                                                                                            cr_FailedPCellId_CellGlobalId(v_FailedPCellId),
                                                                                                            cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2),

                                                                                                            *,

                                                                                                            rlf,

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1), //@sic R5s140067, R5s140069 sic@

                                                                                                            omit //@sic R5-171144 sic@

                                                                                                            ))));

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(*,

                                                                                                            *,

                                                                                                            -,

                                                                                                            *,

                                                                                                            cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell2, v_Dl_CarrierFreq_Cell2),

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2),

                                                                                                            *,

                                                                                                            rlf,

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1), //@sic R5s140067, R5s140069 sic@

                                                                                                            v_FailedPCellId_v1090 //@sic R5-171144 sic@

                                                                                                            ))));

    }                                                                                                            

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.5 Step 17");
Change 6 

	Testcase name
	f_TC_8_6_4_7_EUTRA

	Reason for change
	According to the 36.331 section 5.3.11, if the failedPCellId is set to global cell identity, there is no reason to set the phycellid and carrier frequency and therefore not the extended earfcn(failedPCellId_v1090) either for Band > 64.
3>
set the failedPCellId to the global cell identity, if available, and otherwise to the physical cell identity and carrier frequency of the PCell where radio link failure is detected;
In current implementation failedPCellId_v1090 is required for Band >64 also when failedPcellId is set to global cel identity


	Summary of change
	Change the TTCN to enable UE send the UE information response with not present failedPCellId-v1090 for Band >64 in the case when failedPCellId-r10 is set to global cell identity.

	TTCN module
	LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn

	MCC160 Comment
	


Before change
  function f_TC_8_6_4_7_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Location information
…

    //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_UEInformationResponse_v930_IEs := cr_UEInformationResponse_v930_LateNonCriticalExtension(cr_UEInformationResponse_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0));

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_UEInformationResponse_v930_IEs := *;

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common (tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(?,

                                                                                                             *,

                                                                                                             cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                                     v_PhysCellId_Cell2,

                                                                                                                                                     omit),

                                                                                                             cr_LocationInfo_r10_LocationCoordinates((cr_Ellipsoid_Point_r10(?),cr_EllipsoidPointWithAltitude_r10(?))),

                                                                                                             (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),

                                                                                                              cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq)),
                                                                                                             cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit, //@sic R5s140741 sic@

                                                                                                             v_FailedPCellId_v1090  //@sic R5-171144 sic@

                                                                                                             ),

                                                                                        v_UEInformationResponse_v930_IEs  //@sic R5-171144 sic@

                                                                                        )));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.7 Step 12");
After change
  function f_TC_8_6_4_7_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Location information
…

    //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_UEInformationResponse_v930_IEs := cr_UEInformationResponse_v930_LateNonCriticalExtension(cr_UEInformationResponse_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0));

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_UEInformationResponse_v930_IEs := *;

        v_FailedPCellId_v1090 := omit;

    }

    alt {         

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common (tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(?,

                                                                                                             *,

                                                                                                             cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                                     v_PhysCellId_Cell2,

                                                                                                                                                     omit),

                                                                                                             cr_LocationInfo_r10_LocationCoordinates((cr_Ellipsoid_Point_r10(?),cr_EllipsoidPointWithAltitude_r10(?))),

                                                                                                             cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),                                                                                                              

                                                                                                             cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit, //@sic R5s140741 sic@

                                                                                                             omit  //@sic R5-171144 sic@

                                                                                                             ),

                                                                                        v_UEInformationResponse_v930_IEs  //@sic R5-171144 sic@

                                                                                        )));

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common (tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(?,

                                                                                                             *,

                                                                                                             cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                                     v_PhysCellId_Cell2,

                                                                                                                                                     omit),

                                                                                                             cr_LocationInfo_r10_LocationCoordinates((cr_Ellipsoid_Point_r10(?),cr_EllipsoidPointWithAltitude_r10(?))),

                                                                                                             cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq),

                                                                                                             cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit, //@sic R5s140741 sic@

                                                                                                             v_FailedPCellId_v1090  //@sic R5-171144 sic@

                                                                                                             ),

                                                                                        v_UEInformationResponse_v930_IEs  //@sic R5-171144 sic@

                                                                                        )));

    }    

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.7 Step 12");
Change 7 

	Testcase name
	f_TC_8_6_4_8_EUTRA

	Reason for change
	According to the 36.331 section 5.3.11, if the failedPCellId is set to global cell identity, there is no reason to set the phycellid and carrier frequency and therefore not the extended earfcn(failedPCellId_v1090) either for Band > 64.
3>
set the failedPCellId to the global cell identity, if available, and otherwise to the physical cell identity and carrier frequency of the PCell where radio link failure is detected;
In current implementation failedPCellId_v1090 is required for Band >64 also when failedPcellId is set to global cel identity


	Summary of change
	Change the TTCN to enable UE send the UE information response with not present failedPCellId-v1090 for Band >64 in the case when failedPCellId-r10 is set to global cell identity.

	TTCN module
	LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn

	MCC160 Comment
	


Before change
  function f_TC_8_6_4_8_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Logging and reporting / Reporting at RRC connection establishment / PLMN list
…

    //@siclog "Step 20" siclog@

    //Check: Does the UE send a UEInformationResponse message with rlf-Report on Cell 12?

    v_FailedPCellId := cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1);

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, //@sic R5s141198 sic@

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         omit,

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(v_FailedPCellId), cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Dl_CarrierFreq_Cell1)),
                                                                                         *, //@sic R5s141198 sic@

                                                                                         *,

                                                                                         *,

                                                                                         *,

                                                                                         v_FailedPCellId_v1090, //@sic R5-171144 sic@

                                                                                         cr_RLF_Report_basicFields_r11(?, t310_Expiry, ?))))); //@sic R5s141198 sic@

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.8 Step 20");
After change
  function f_TC_8_6_4_8_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Logging and reporting / Reporting at RRC connection establishment / PLMN list
…

    //@siclog "Step 20" siclog@

    //Check: Does the UE send a UEInformationResponse message with rlf-Report on Cell 12?

    v_FailedPCellId := cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1);

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    alt {       

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, //@sic R5s141198 sic@

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         omit,

                                                                                         *,

                                                                                         cr_FailedPCellId_CellGlobalId(v_FailedPCellId),
                                                                                         *, //@sic R5s141198 sic@

                                                                                         *,

                                                                                         *,

                                                                                         *,

                                                                                         omit, //@sic R5-171144 sic@

                                                                                         cr_RLF_Report_basicFields_r11(?, t310_Expiry, ?))))); //@sic R5s141198 sic@

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, //@sic R5s141198 sic@

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         omit,

                                                                                         *,

                                                                                         cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Dl_CarrierFreq_Cell1),

                                                                                         *, //@sic R5s141198 sic@

                                                                                         *,

                                                                                         *,

                                                                                         *,

                                                                                         v_FailedPCellId_v1090, //@sic R5-171144 sic@

                                                                                         cr_RLF_Report_basicFields_r11(?, t310_Expiry, ?))))); //@sic R5s141198 sic@

   }                                                                                         

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.8 Step 20");
Change 8 

	Testcase name
	f_TC_8_6_4_9_EUTRA

	Reason for change
	According to the 36.331 section 5.3.11, if the failedPCellId is set to global cell identity, there is no reason to set the phycellid and carrier frequency and therefore not the extended earfcn(failedPCellId_v1090) either for Band > 64.
3>
set the failedPCellId to the global cell identity, if available, and otherwise to the physical cell identity and carrier frequency of the PCell where radio link failure is detected;
In current implementation failedPCellId_v1090 is required for Band >64 also when failedPcellId is set to global cel identity


	Summary of change
	Change the TTCN to enable UE send the UE information response with not present failedPCellId-v1090 for Band >64 in the case when failedPCellId-r10 is set to global cell identity.

	TTCN module
	LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn

	MCC160 Comment
	


Before change
  function f_TC_8_6_4_9_EUTRA() runs on EUTRA_PTC

  { // Radio Link Failure logging / Logging and reporting / Reporting at intra LTE handover / PLMN list
…

    //@siclog "Step 16" siclog@

    //Check: Does the UE send a UEInformationResponse message with rlf-Report on Cell 12?

    //@sic R5-145552 sic@

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common (tsc_RRC_TI_Def,

                                                                     -,

                                                                     cr_RLF_Report_1Entry(?,

                                                                                          *,

                                                                                          omit,

                                                                                          *,

                                                                                          (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),

                                                                                           cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq)),
                                                                                          cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                          omit,

                                                                                          rlf,

                                                                                          omit,

                                                                                          v_FailedPCellId_v1090,  //@sic R5-171144 sic@

                                                                                          cr_RLF_Report_basicFields_r11(?, t310_Expiry, ?),

                                                                                          omit,

                                                                                          omit)))); //@sic R5s141297 sic@

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.9 Step 16");
After change
  function f_TC_8_6_4_9_EUTRA() runs on EUTRA_PTC

  { // Radio Link Failure logging / Logging and reporting / Reporting at intra LTE handover / PLMN list
…

    //@siclog "Step 16" siclog@

    //Check: Does the UE send a UEInformationResponse message with rlf-Report on Cell 12?

    //@sic R5-145552 sic@

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    alt {      

    [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common (tsc_RRC_TI_Def,

                                                                     -,

                                                                     cr_RLF_Report_1Entry(?,

                                                                                          *,

                                                                                          omit,

                                                                                          *,

                                                                                          cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),                                                                                         

                                                                                          cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                          omit,

                                                                                          rlf,

                                                                                          omit,

                                                                                          omit,  //@sic R5-171144 sic@

                                                                                          cr_RLF_Report_basicFields_r11(?, t310_Expiry, ?),

                                                                                          omit,

                                                                                          omit)))); //@sic R5s141297 sic@

     [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common (tsc_RRC_TI_Def,

                                                                     -,

                                                                     cr_RLF_Report_1Entry(?,

                                                                                          *,

                                                                                          omit,

                                                                                          *,

                                                                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq),

                                                                                          cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                          omit,

                                                                                          rlf,

                                                                                          omit,

                                                                                          v_FailedPCellId_v1090,  //@sic R5-171144 sic@

                                                                                          cr_RLF_Report_basicFields_r11(?, t310_Expiry, ?),

                                                                                          omit,

                                                                                          omit)))); //@sic R5s141297 sic@

    }                                                                                          

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.9 Step 16");
Change 9 

	Testcase name
	f_TC_8_6_4_10_EUTRA

	Reason for change
	According to the 36.331 section 5.3.11, if the failedPCellId is set to global cell identity, there is no reason to set the phycellid and carrier frequency and therefore not the extended earfcn(failedPCellId_v1090) either for Band > 64.
3>
set the failedPCellId to the global cell identity, if available, and otherwise to the physical cell identity and carrier frequency of the PCell where radio link failure is detected;
In current implementation failedPCellId_v1090 is required for Band >64 also when failedPcellId is set to global cel identity


	Summary of change
	Change the TTCN to enable UE send the UE information response with not present failedPCellId-v1090 for Band >64 in the case when failedPCellId-r10 is set to global cell identity.

	TTCN module
	LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn

	MCC160 Comment
	


Before change
  function f_TC_8_6_4_10_EUTRA() runs on EUTRA_PTC

  {//Radio Link Failure logging / Logging and reporting / Reporting at RRC connection re-establishment / PLMN list
…

    //@siclog "Step 10" siclog@

    //Check: Does the UE send a UEInformationResponse message with rlf-Report on Cell 12?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def,

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         omit,

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),

                                                                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq)),
                                                                                         cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12),

                                                                                         *, //@sic R5s150076 sic@

                                                                                         rlf,

                                                                                         *,

                                                                                         v_FailedPCellId_v1090, //@sic R5-171144 sic@

                                                                                         cr_RLF_Report_basicFields_r11(?, t310_Expiry, ?),

                                                                                         omit,

                                                                                         omit)))); //@sic R5s150076 sic@

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.10 Step 10");
After change
  function f_TC_8_6_4_10_EUTRA() runs on EUTRA_PTC

  {//Radio Link Failure logging / Logging and reporting / Reporting at RRC connection re-establishment / PLMN list
…

    //@siclog "Step 10" siclog@

    //Check: Does the UE send a UEInformationResponse message with rlf-Report on Cell 12?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    alt {   
    [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def,

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         omit,

                                                                                         *,

                                                                                         cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),                                                                                         

                                                                                         cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12),

                                                                                         *, //@sic R5s150076 sic@

                                                                                         rlf,

                                                                                         *,

                                                                                         omit, //@sic R5-171144 sic@

                                                                                         cr_RLF_Report_basicFields_r11(?, t310_Expiry, ?),

                                                                                         omit,

                                                                                         omit)))); //@sic R5s150076 sic@

    [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def,

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         omit,

                                                                                         *,

                                                                                         cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12),

                                                                                         *, //@sic R5s150076 sic@

                                                                                         rlf,

                                                                                         *,

                                                                                         v_FailedPCellId_v1090, //@sic R5-171144 sic@

                                                                                         cr_RLF_Report_basicFields_r11(?, t310_Expiry, ?),

                                                                                         omit,

                                                                                         omit)))); //@sic R5s150076 sic@

    }                                                                                         

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.10 Step 10");
